For estimating population totals the Horvitz-Thompson estimator was used.
Grossing-up procedure includes:

1.        Calculation design weights, which are inverse of inclusion probability in stratum h (h=1,…,H are the initial stratums of the sample, based on the size class and economic activity NACE Rev. 2 divisions):
,
where,
wh — design weight in stratum h
Nh — population size in stratum h
nh — sample size in stratum h.

2.        Non-response adjusted weights are calculated for each stratum h as follows:
, h=1,…,H.
Non-response adjustment assumes that responded and non-responded enterprises are similar within stratum h.
Post-stratification is not used for calculation weights.

3.        The number of active enterprises is estimated using Horvitz-Thompson estimator:

All estimates are calculated using the same grossing-up factor. Domain estimation method was used for calculating estimates according to NACE Rev.2. Domains d are formed as groups of NACE Rev.2 divisions. 
We define the domain indicator as follows:


Using the domain indicator we can define estimated total of domain d:

, 
where




 — estimated total of domain d,
 — population size in stratum h,
 — sample size in stratum h,
H — number of stratums.
 —  value of the surveyed variable of unit k

Proportions are estimated as a ratio of domain total and estimated domain size:  

4. We did not questioned enterprises about the turnover. Instead we took these data from administrative sources. As it happened, not for all enterprises in our sample turnover in administrative data was not available. So instead of the weight described above in each stratum an alternative weight   for estimating turnover was introduced, where N denotes as usual the estimate of the number of economically active enterprises of the stratum and m is the number of enterprises having positive turnover in the sample of the stratum.
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